>
(«b]
O
3 107
|_
o
O
O
©
10
1
1071
1072
2
0))]
<
|_
<C
o 1
ie)
<
e
0.5

7000 GeV pp W
[ T I T I T | T I T I I I | T I T ]
B - |

Jet P, ((ETj>20,|r]j|<2.8,ETe>20,|r]e|<2.47 Pnu>25,M >40AR, >0.5))
— . g—

mcplots.cern.ch [arXiv:1306.3436]

= m ATLAS =
- --©-- Herwig++ 2.6.0 default “ -
. --3-- Herwig 7.2.1 default '\‘51;;.:\1 ] ]
—a— Pythia 8.308 default N
g_ --¥-- Pythia 8.308 vincia-default ¢ _§
_I | | | | | | | | | I_
:I T T | T T T T | T |:
1 1 " 1 1 1 " | " 1 " 1
100

pT(2nd jet) [GeV]

Rivet 3.1.10, = 300k events

N

0.5



	Contents
	Page 1


